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1. (a)  Outline three types of file sharing technologies that could be implemented in an
operating system. (3 marks)

(b} (i) Define the term clusrer as used in file management. (2 marks)

(i} Operating system uses file allocation table to position files on a disk, Outline
five desirable features of a goed file allocation table. (5 marks)

(u}  Differentiate between device conrrolfer and device driver as used in Computer
Systems. {4 marks)
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(d)  Disk cuching increpses performance of g computer. Explain two wa ¥a Lsed in disk
caching to jusrify this Statement. (4 marks)

2, {a) (1) Outline three groups of /0 instructions used in Computers, {3 marks)

(1) Most computer systems have implemented dynamic memory access, Diescribe

m:mmaﬂmumdmmﬁ:dmfgum&ﬁmintheummm

(b)
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(e} Maendeleo Institute is experiencing data privacy problem within it's file svstem,
Explain two measures that the institute can put in place to mitigate this problem.

(4 marks)

(d)  Multilevel operating systems must include round robin as one of the process scheduling
algorithms. Explain two advantages of this algorithm, (4 marks)

bl i) Describe the term swapping as used in Memory management. (3 marks)

(i) Outline four major storage levels that could be found in a memory hierarchy
diagram, {4 marks)




(¢} Explain three ways in which s new process is created in an operating systemn,
(6 marks)

(d}  Derrick was required o investigate several clements of a proceds control block. Qutline
four elements that he could have established, (4 marks)
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4. (a)  Explain each of the following lﬂmm\é}éed in operating sysiem:
(1) shell- Qs (2 marks)
-Q}c’?
(1) thread. {2 marks)
== =
(B)  AXB Company Ltd. intends to install an operating system with a Iriendly user
r interface,
(i) Id:ﬂ.llﬁr the most appropriate type of operating system for the company
Justifying vour answer, {2 marks)
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(i) Outline four drawbacks that the

company could realize while using the
operating system identified in (i)

, (4 marks)

(e} (i)  Explain the term dispatcher as used in OpeTaling systems. (2 marks)

(i) Differentiate between Mock-ortented and stream-oriented 1O devices,
(4 marks)

e

&

) A lecturer described goals of 110 5 ¢ during an operating system class. Chitling four
goals he could have m:ntim‘te%‘b»

(4 marks)

5, @ Outline two memory placement algorithms.
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(i) Differentiate between short rerm and long ferm process scheduling. (4 marks)

(b (i Define the term spatial locality as used in memory management. (2 marks)

o —_— —

{iifl  Describe two limitations of dynamic memaory partitioning schemes,
(4 marks)

'\'\ H‘JIJI"M:Z'_' '

(¢}  Figure 1 shows a directory s{mcl.um{i%i:fp:ml operating system, Use it to answer the
questions that follow, &

. st 7
diractory |
»
Figure 1
{i) Identify the directory structure depicted in the diggram justifying your answer, i
{2 marks)
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(i Outline two advantages of the directory structure identified in {i). (2 marks)

(i) Outline four typical directory operations that could be carried out in the
directory structure identified in (c ) (i), {4 marks)

(3 (8)  Figure 2 shows a NTFS volume layout diagram. Outline the function of the pans

labeled (i) and {ii). (4 marks)
-
Master .
file table 0& File arca
T \{f)
Q}Qf
(i} {gﬁ {i1)
<

Figire 2
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(b} Most CPUs have interrupt requests for operating system’s operations. Explain two
types of such interrupt requests, (4 marks)
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(dy (i)

Juliet intends 1o procure an 10 device for her computer. Cther than cost,

autline four factors that she should conside

r when selecting the device.
(4 marks)

{ii)

Solomon, a prﬂgrammwgﬁ‘am @ certain compuny wag required to explain the
roles of clock sofiwafetn a client Outline four functions that he could have




(i)

Differentiite between fogical address and phyrical address as used in memory
management, (4 marks)

(b}  Table | shows details of FCFS scheduling algorithm, Use it to answer the questions that
follow.
| Process | Amival time | Execution time | Service time
PO ] 5 0
Pl | 3 5
rn 2 B 8
[P 3 6 16
Table |
(i) Calculate the wait time for each process labeled PO, P1, P2 and P3. (2 marks)
- O pAba N
\0 )
R\4 2
-—
oo
<
(i}  Calculate the average wait time for all the processes. (2 marks)
(iii)  Outline two advantages of FCFS scheduling algorithm. (2 marks)
o —
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(c)

Risper was required o identify two types of memory [ragmentations in operating
systems. Explain twe types that she was likely to have identified. (4 marks)

(d)  Javesh Company Ltd. would like to implement a client-server operating system. Outline
Four benefits the company will derive from this decision, {4 marks)
= -ﬁ-"-.] A
s
- 2 ! ,{ 20 4 2 N
QN o 4
(;Q N O -Gogn
o\’ '
<&
3 N
8 () Outline four reasons for hﬂ%mting audit trail on a fle system, {4 marks)
o0
w}
(b}  Differentiate between kernel and user spaces as applied in operating systems.
{4 miarks)
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e} (1 Outline two examples of resources required in process execution. {2 marks)

(it} Figure 3 shows memory regrsiers inan operating system. Chathine the memory

regaster labeled (1) and (i), {4 marks)
i
: ratin
55600 Uperating
30004 : "’“‘: - (i)
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Process
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102404}
Figure 3 &
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(dy  Patricio was required 1 categ “eomputer 10 hardware, Deseribe three categories
that she could have mdicated’ (6 marks) |
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